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(EHM) | eIy (5m) (EHM) § seEFiagy (7m)
1 [dbJwims | 1,166 [AEJWNTT | 52,362 [AEJWNT | 1,957,233 Xij T 13,345 [dEJWNT | 590,007 :xXijHHET 5,098 | 1
2 |f&Ehd 948 |#& i 21,790 [XTHMET | 1,153,440 PEAST 10,286 |Xij HHT 445,844 HASREFTH | 4,445 | 2
3 | AR KT 477 |ABEKT | 12,566 |EAT 878,252 iBLEKEFTT 6,895 |fmTH 170,297 i#iETH 1,795 | 3
4 | RJIT 311 =& 8,777 |t& 551,660 igAATH 4,225 | ARk 95,667 i 1,260 | 4
5 |fEFETH 201 |Xij FHET 8,557 |HSEHEFTT| 404,997 IKSERT | 4,150 |BUEREFTT 92,472 PROKHT 1,213 | 5
6 [W)ilT 175 | &2 8,440 |AREKTH| 281,894 idbJumi | 3,659 |HiETH 86,899 IKAHMI| 1,165 | 6
7 |EHm 169 |fREE 7,005 |#HETH 248,844 KM 3,384 | T 76,904 HEJUMT| 1,118 | 7
8 |KAMH 161 | KA W 6,641 | KZEMTT 223,798 VALLRT 3,194 | KM 76,142 PN\ 1,111 | 8
9 | KBy T 147 |EHH 6,133 | &M 198,806 i&E 2,877 |E&TT 66,363 {5 E 1,071 | 9
10 |\ i 147 |3tk 4,806 |fREFTT 138,479 ¥ FHT 2,791 |BEETH 47,677 EEJIIRT 961 | 10
11 [s#am 127 |sHETH 4,864 |EHG 133,834 EEJIIHT 2,788 |Hitkmh 38,743 i 953 | 11
12 |ZEAEmT 120 [ATHETh 4,544 |5tk 120,641 (@i 2,728 |BrEnT 38,412 PALLIET 946 | 12
13 |Hitkm 117 |Freny 4,282 |17 103,162 :JIlIGmT 2,725 B 38,050 if T 926 | 13
14 |FERT 112 [E-fir 3,763 |HrEnT 90,053 AT 2,678 |\ L 29,283 {/MAHT 923 | 14
15 |h & 108 |#0)1lTf 3,451 |[E-Hi 83,961 i/\#&fi 2,622 [E-Hi 28,692 iHTEHET 911 | 15
16 |fThem 92 | RJIIT 3,290 [#0)1lT 79,883 {/INEBTH 2,526 |#0)IlTH 20,917 iEAKHT 901 | 16
17 | A0Fh 88 | KEfdm 3,048 |\ i 71,157 /MTHET 2,452 |ZkTH 20,801 iACZHT 896 | 17
18 |Zakit 86 |mJIlT 2,694 |§&FmT 66,028 LT 2,410 |mJIITH 20,582 iZERT 896 | 18
19 [Fr=ny 78 |\ i 2,578 |@JIIT 58,173 i[@JIT 2,383 | RJIT 20,186 iF[)IITT 859 | 19
20 |HLEREFTH 75 |¥FHT 2,331 Az 48,036 L& 2,347 | 18,803 iZAREAT 803 | 20
21 [H&iEm 73 |FEEmT 2,258 |zEkmh 44,853 ATHETH 2,259 | KBrbi| 18,538 itk 788 | 21
22 |Xii AT 72 |EEWkTH 2,255 [ RJIIHT 43,777 I 2,248 |§&FmT 16,898 i'E AT 781 | 22
23 |mJI 65 |J&)IET 2,240 [K=EF 43,697 & T 2,235 |ZHFENT 16,548 &M 774 | 23
24 [E-aiT 64 |HEERFTH 2,061 =0T 42,664 {EEITH 2,214 [HOZRT 15,830 EgiIHT 769 | 24
25 |'=E& T 64 |ZEEEHT 2,029 | KEFHRTH 41,520 iE M 2,148 |F-3EHT 15,749 i FEHT 766 | 25
26 |G 63 |ka=AT 1,831 |J/&JIHT 39,853 M4 2,122 |IE)11ET 15,243 i K= 766 | 26
27 |1 ET 62 |AHeZHT 1,825 |ZEEEHT 38,950 IARIKMT | 2,120 |FAEHET 13,513 IARKTH 751 | 27
28 =T 62 |H0FE 1,767 [Fo=HT 35,342 iRJIPENT | 2,112 |RARHT 13,336 iSLEIAT 748 | 28
29 |¥2TFHT 61 [DEiEm 1,722 /AR 34,653 SHTEHET 2,091 |pEiE 13,077 ESEHT 735 | 29
30 [EEmT 56 |tEHEET 1,692 |H&Eixm 33,544 iKAKHT 2,064 [THGTH 12,242 HXET 734 | 30
31 | HREar) 1| HT 53 |FAiHET 1,651 |=@&h 32,650 R 1,947 |FAiHT 11,498 i¥AEERT 732 | 31
32 | =G 51 | 1,449 |BURiET 30,055 iHEAHT 1,933 |&F& 9,407 iR 719 | 32
33 | AT 47 /AR 1,367 |HMEM 25,919 iEsElT 1,920 [ 8,813 ik FHT 715 | 33
34 [ RAHT 46 |FRET 1,366 |& & 25,715 PSLATHT 1,919 |A<oEd 8,652 iJI|IGHT 710 | 34
35 | AT 44 [T 1,137 |f@meE 24,464 iz 1,889 |f@mikm 8,378 ST 698 | 35
36 A 38 | RAHT 1,121 /ARy 24,438 it EHT 1,887 | K=EMFT 7,990 iFEMT 689 | 36
37 |fmeEh 38 |&EsehT 1,102 |A0FEh 23,744 irPEITH 1,884 |&0HT 7,756 JIHT 684 | 37
38 | K JIvERT 38 |/K&HT 1,093 | RKAHT 23,352 HHRAT 1,868 |/NEBTH 7,600 {ARERTH 682 | 38
39 | AT 37 | K=WH 1,083 |EpHT 21,781 iZHFEHET 1,848 |/MTHET 7,298 iFHFMET 652 | 39
40 | KsE/FTTH 37 |fEAmT 1,011 |i2gmr 21,018 IFFFEMT 1,831 |fEZEmT 7,128 ifiTH 651 | 40
41 |STAEHT 34 |EENT 954 | RJJVERT 20,198 HX|E 1,826 [/ALHT 7,109 iKEET 622 | 41
42 |FEBAH 30 | K JIHEHT 953 |/IMTHT 19,631 imR] 1,817 |mmT 6,979 {E 5T 618 | 42
43 [KEHT 29 |H&E 872 |fmAHET 19,475 RJIHT 1,757 [AK&HT 6,934 I REFHRTH 611 | 43
44 |t mT 28 |/rET 767 |ACEET 19,241 i/KARET 1,699 |miErf 6,480 ifEAMT 609 | 44
45 /NPT 28 |/A LT 756 |miikm 18,833 iFE_EHT 1,658 |f@FHT 6,186 i KJIPEHT 599 | 45
46 |l sE AT 27 |=kmr T47 |FEZERT 16,364 fESEHT 1,651 | EBHT 5,869 i&HTH 598 | 46
47 |fEZERT 25 | EEAT 742 [#E)11ET 12,750 AT 1,638 | XJIuchT 5,609 Il 597 | 47
48 | HlgR 23 |HRE) 1T 727 | LA 12,348 i EHT 1,570 |EEJIIET 4,321 EEERT 594 | 48
49 |/NEBTH 22 |STAEHT 688 | —SLHT 9,397 A RMT 1,401 [BRE)I[HT 3,824 i[i]HEMT 584 | 49
50 & FA] 21 A 668 |FHRT 8,497 ittt 1,398 |4 AT 3,729 LMY 584 | 50
51 [ EEHT 20 |[3EAT 660 |SZAERT 8,311 iZ5JEMT 1,383 |SrAEHT 3,387 iRJITH 578 | 51
52 | HLRHT 19 |GEERT 557 |ARETJIHT 7,886 KEFMEHT | 1,340 | OLAT 3,376 & HMT 571 | 52
53 |FEJIIHT 18 |FFBH 539 |lwEEmT 7,793 FHT 1,321 |&FHET 3,311 iffSHNT 571 | 53
54 | —SCHT 17 |&F&ENT 485 |HEERT 7,700 iAREH 1,306 | &AM 3,277 LINERTT 566 | 54
55 [/AILIET 15 |KEJImy 440 |FHTH 7,407 iSLAEET 1,251 |HEERT 3,233 HIRF]JI[AT 527 | 55
56 |5t LT 15 |4 AT RYEH =) 6305 {RJIT 1,223 |HAKHT 2,018 ixLAERT 521 | 56
57 | & =T 13 | HRHET 220 |JIIFFHT 5,445 i SCHT 1,200 |FE_EHT 1,917 iZE_EHT 511 | 57
58 |JI[IFFHT 13 |7 =0T 219 |HKRHT 4,447 [ EEET 1,189 |7 =HT 1,691 i@k 488 | 58
59 | LFEHT 12 |Hlgrt 192 |77 =HT 3,360 AREJINET | 1,060 |)INRFHT 1,399 iACFEN 485 | 59
60 | = 10 [JIliemy 188 |HlgEAt 2,224 WG 1,018 |sRlEHS 756 R EFRT 450 | 60
61 [AmEHT 9 |¥sHHET 94 |EEBFKS 852 | BFKS 1,003 |SRHHET 474 | ZLCHT 439 | 61
62 | AT 9 | RHAT 89 |-k HHT 798 SR HET 933 | R BT 373 iHUMERS 352 | 62
63 |2 EFAT 8 | KRIEHT 87 |KEAT 651 (RELKT 654 |REKT 373 HRERAS 335 | 63
R ENEL) S ENEL) 83 |WAsHIHT 378 RN 376 |¥WsHET 189 ATHEN 270 | 64
65 | RALHT 5 [REAF 78 | KATHT KAEHT KAEHT KAEHT 65
66 |7RFT 2 |ZRFS 11 |FRFS IRFT IRFT IRFT 66
67 67
68 68




